TASK 1 

Read the text below and decide which answer (a, b, c, d) best fits each gap. 

High Altitude Sickness

What is AMS?

As increasing numbers of people live, work and holiday 1. __________ high altitude, so awareness of the neurological consequences has become more important.  High altitude sickness is a common name for illnesses that usually occurs above 3000 meters from sea level.  Another term used is acute mountain sickness (AMS). The exact cause of AMS is still unclear. The 2. __________ of acute mountain sickness has been found 3. __________ with altitude. Heavy exertion, a history of migraine, the absolute altitude reached, little mountaineering experience and 4. __________ water intake have been found to be independent risk factors for acute mountain sickness.

According to the researchers, AMS is 5. __________ a deficiency in the amount of oxygen reaching body tissues (hypoxia), but the steps between low oxygen and AMS are vague. Current studies show that hypoxia in the air and blood causes the blood vessels of the brain 
6. __________ in an attempt to get more oxygen. This vasodilation causes the headache. And because there 

7. __________ blood in the brain, the brain is slightly swollen. Although everyone going to high altitude has slight brain swelling, it is worse 8. __________ those who develop AMS. This swelling causes pressure on the brain as it is squeezed against the skull, and the pressure might be the cause of the symptoms. Acute mountain sickness is relatively 
9. __________ and usually self-limiting. But in extreme cases, it may progress to 
high-altitude pulmonary oedema or HAPE. HAPE-associated symptoms are 10. __________ fatigue, chest tightness, shortness of breath 11. __________ minimal effort that develops to shortness of breath 12. __________, and a dry cough. AMS may also progress to HACE, high-altitude cerebral oedema (swelling of the brain), an acute brain disorder characterized by 13. __________ (unsteady movements) and a depressed level of 

14. __________. 

15. __________ of AMS is based on the classic symptoms, headache 16. __________ the cardinal one, though not always present. Other symptoms include dizziness, feeling chilled, trouble sleeping, loss of appetite (anorexia) or nausea, fatigue, and sometimes irritability. The Lake Louise Score is a scoring system of symptoms developed by experts to 17. __________ the AMS symptoms. A score of 4 or more is considered diagnostic for AMS. However, for the diagnosis of AMS, a bad headache by itself may be sufficient.

What is HAH?

Headache is the most common neurological symptom and complication arising from ascent 18. __________ altitudes greater than 2500 - 3000 metres. Until recently there have been few systematic attempts to define the clinical features of high altitude headache (HAH) and only a small number of trials of therapies, which at times yielded conflicting results.The International Headache Society has formulated a definition of High Altitude Headache in the 2nd edition of their International Classification of Headache Disorders. According to the headache specialists the typical features of HAH are an 19. __________ of symptoms within 24 hours of reaching a particular height, duration of less than a day, and in most cases a bilateral, generalized, dull pressure sensation. HAH is not usually reported to be accompanied 20. __________ hypoxic symptoms such as a desire to overbreathe or shortness of breath.

 A study published in 2003 analysed the incidence, risk factors, and clinical characteristics of HAH in members of an expeditionary unit to the Kanchenjunga base camp in Nepal (5100 m). Participants were interviewed 

21. __________ the trip and while trekking. They recorded headaches experienced at greater than 3000 metres using a structured questionnaire incorporating the diagnosis for HAH and acute mountain sickness. In addition, 19 trekkers from other groups above 3000 metres recorded features of headaches using the same questionnaire. This study demonstrated that 83% reported at least one HAH at a mean altitude of 4723 metres. Those who developed HAH were significantly younger, suggesting that age-related cerebral 22. __________ (loss of brain cells) might accommodate mild cerebral oedema (or swelling). Women and people who have headaches in daily life were also more likely to report severe headaches at altitude. In this study, 95% of the women reported headaches compared to 82% of the men, and the headaches of the women were reported more frequently and described as 

23. __________ greater severity compared with the men. In normal conditions, women have a higher rate of migraine and most other headaches than men, raising the possibility that they may be more susceptible 24. __________ headache at altitude. HAH often awakened the study participants from sleep or occurred upon awakening and was 25. __________ by bending, coughing, or sneezing, suggesting the possibility of intracranial (meaning within the cranium or skull) hypertension as 
a contributing factor.

Selected and adapted from: http://www.migrainetrust.org/factsheet-high-altitude-headache-what-is-it-12207
http://www.altitudemedicine.org/index.php/altitude-medicine/learn-about-altitude-sickness/what-is-altitude-sickness


TASK 2

Change the word in block letters to fit the context of the sentence.

Don’t leave the word unchanged.

Gender and IQ

When we look beyond the ……..(1) measure of an IQ score , there seems to be 


GLOBE

some reliable ……………. (2) of sex differences on specific intellectual skills. For 

INDICATE

example, it is not ……………….(3) that females score on average higher than 


COMMON

males on tests of verbal fluency, reading ability and fine dexterity. Males, on 



the other hand, …..………. (4) females on tests of mathematical …………. (5) and spatial 
SCORE/ REASON

……………… (6) . Educational experiences may have a great deal to do with observed 
RELATE

dissimilarity in mathematical ability. Scores on test are very well ………….. (7) with 
CORRELATE

the number and nature of the maths classes taken while a student is in high 


school. Quoting from an article by Lyle Jones (1984) “At age 13 , for neither 

blacks nor whites is there any evidence for a mean sex difference in mathematics 

……...….….   (8). At age 17 , for both blacks and whites , the mean for males is 

ACQUIRE

……..……… (9) higher than for females…” 







SIGNIFY

So  ……………… (10) any differences that can be found between males and females 
SEEM

on intellectual tasks are …….……. (11) small, quite specific, and probably due to 

REASON

environmental influences and …………. (12) experiences- although on this last 

SCHOOL

conclusion, all the data are not yet in.

TASK 3

Complete the text with the missing words. The number of lines is the number of letters in a given word.

Sometimes the missing letters or synonyms have been provided.

Acquired immunodeficiency

Immunodeficiency is the 1) c _ _ _ _ _ _ _  or partial failure of the immune system, the body’s natural defence system 2) _ _ _ _ _ _ _ disease. If the immune system 3) f _ _ _ _  at some point during life, the condition is known as “acquired” immunodeficiency.

What are the causes?

In the most infamous form of this condition, acquired immunodeficiency syndrome (AIDS), the human immunodeficiency virus (HIV) 4) d _ _ _ _ _ y _  a particular type of white blood cell, the T cell, and this causes 5) _ _ _ _ _ _ _ _ _ _ _  (developing) weakness and 6) _ _ _ _ _ _ _ _ _ _ _ _ _ (susceptibility) of the immune system.

Infections such as measles or flu damage the body’s ability to fight infection. They do this partly by 

7)  d _ _ _ _ _ _ _ _ _ the number of white blood cells involved in fighting the infection. Usually, this type of immunodeficiency is mild, and the immune system returns to 8)  n _ _ _ _ _ once the infection is overcome.

A mild form of immunodeficiency may 9) d _ _ _ _ _ _  in some 10) _ _ _ _ _ _ _ disorders, including diabetes mellitus and rheumatoid arthritis. This may 11) o _ _ _ _  partly because these diseases put stress on the immune system, reducing the ability to 12) _ _ _ _ _ _  (fight) other diseases.

Certain types of cancer, particularly 13) t _ _ _ _ _ _  of the lymphatic system (lymphomas), may cause a more 

14) _ e _ _ _ _  form of immunodeficiency by damaging the cells of the immune system and by reducing the production of normal white blood cells.

Immunosuppressant drugs, which may be given to prevent the 15) _ _ _ _ _ _ _ _ _  of an organ following transplant 16) s _ _ _ _ _ _ , also produce immunodeficiency and 17) _ _ _ _ _ _ (influence) the body’s ability to fight infections.

Chemotherapy can damage the bone 18) _ _ _ _ _ _ , where the 19) _ _ _ _ _ _ _ _  (most) of blood cells are made, and may also lead to the development of acquired immunodeficiency.

What might be done?

Your doctor may suggest continual low 20) _ _ _ _ _  of antibiotics, 21) _ _ _ _ _ _ _ _  _ (fighting viruses)  drugs and/or antifungal drugs and various immunizations, such as pnemococcus 22) _ _ c _ _ _ _ , to protect against pneumococcal pneumonia.The effects of immunodeficiency can be 23) c _ _ _ _ _ l _ _ _  by treatment, although immunodeficiency 24) _ _ _ to HIV infection tends to 25)  w _ _ _ _ _  (decline) over time.

Adapted from:  (Family Health Guide – Dr. Miriam Stoppard)


TASK 4


Read the text and decide whether the sentences below (1-10) are true or false.


Food, farming and antibiotics: a health challenge for business

 adapted from  The Guardian 


The miracle drug of the 20th century is in danger of running out of potency. Antibiotic use in both humans and animals is contributing to a reservoir of resistant bacteria resulting in increased human mortality and increased hospital stay lengths globally. The World Health Organization warns the misuse of antimicrobial medicines and new resistance mechanisms are "making the latest generation of antibiotics virtually ineffective", while at the 2013 G8 Summit, scientific ministers issued a statement calling antimicrobial resistance (AMR) "a major health security challenge of the twenty first century."
Antibiotics are an integral part of industrialised livestock production. The indiscriminate use of antibiotics in animal agriculture has come under scrutiny from governments, companies and consumers concerned with preserving for as long as possible the ever-diminishing arsenal of antimicrobials that work in humans. Despite estimates that show up to 80% of the antibiotics sold in the US are used in farm animals, the contribution of animal agriculture to the overall threat of antimicrobial resistance to human health remains unclear. This complicates policy making, and has fuelled debate over the use of antibiotics on farms. So how can we responsibly use antibiotics in animals without compromising food safety and human health, as well as animal health, welfare and productivity?









In the US, the debate focuses on so-called growth promoters - the use of antibiotics in animal feed as a means to enhance the growth of pigs, beef and poultry. In Europe, this kind of non-therapeutic use of antibiotics was banned in 2006 in an effort to curb over-use and reserve antibiotics for medicinal use only. In the US, the Food and Drug Administration (FDA) must make publicly available annual summaries of antimicrobial drug sales, but these are not categorised by species. In the UK antibiotics can only be administered to animals under a veterinary prescription and the vet is legally obligated to record use. However, there is no centralised collation of these data, in contrast to the Danish VETSTAT system. In 2003, McDonald's introduced a global policy restricting the use of medically important antimicrobials for production improvement purposes, amongst other measures. In 2007, Tyson Foods announced all its chicken was from birds raised without antibiotics. This claim was challenged when it emerged that ionophores (a type of antibiotics commonly used to treat or prevent the parasitic disease coccidiosis in poultry) were not meant to be phased out in its poultry feed. Furthermore, US based companies like Niman Ranch and Applegate have made statements such as "never given hormones or antibiotics"  and "we're anti antibiotics" respectively, in an attempt to differentiate themselves as purveyors of natural meats. They pride themselves on ensuring disease prevention through husbandry practices.
 The crisis of antibiotic resistance scares consumers, and this could be one reason why most retailers' public messaging in this area has focused on 'antibiotics free' claims, rather than a more nuanced framing around responsible use. Such an approach can guide action at company level as well as direct national policy by: replacing antibiotics use where they are currently the first line of attack, primarily through comprehensive disease prevention strategies and practices, reducing the use of antibiotics that are commonly deployed  and refining the use of antibiotics to ensure intelligent and effective deployment, including optimising recommendations on dosage, duration and routes of administration, as well as ensuring correct drug selection in light of concerns about antimicrobial resistance.

Now read the sentences below and decide wheter they are true or false.

1. The adverse effect of antibiotic overuse is their contribution to higher percentage of individuals taken ill with certain diseases.

2. Different governments are aiming at putting a ban on indiscriminate use of antibiotics.

3. The number of intestines-inhabiting bacteria is being continually shriveled.

4. The evidence of industrialised livestock production being related to human health has recently been indisputably proven.

5. American government is not unanimous as how to regulate the antibiotics' issue.

6. The USA, contrary to European countries, does not approve of medically unjustified antibiotic uses.

7. British veterinary doctors may be at risk of litigation upon failing their duty to record antibiotic use.

8. There has been a query as to Tyson Foods' claim to grow chickens antibiotic-free.

9. Niman Ranch and Applegate claim to be sole providers of natural meats.

10. Effective use of antibiotics is uncommonly conditioned by how they are applied.

1.�
a)�
in�
b)�
at�
c)�
on�
d)�
to�
�
2.�
a)�
prevarication�
b)�
presence�
c)�
revalescence�
d)�
prevalence�
�
3.�
a)�
to increase�
b)�
to have increased�
c)�
increasing�
d)�
increased�
�
4.�
a)�
insufficient �
b)�
poor�
c)�
inadequate�
d)�
all answer are correct�
�
5.�
a)�
causing�
b)�
due to�
c)�
leading to�
d)�
thanks to�
�
6.�
a)�
dilating�
b)�
to dilate�
c)�
dilate�
d)�
to have dilated�
�
7.�
a)�
is less�
b)�
is enough�
c)�
isn’t enough�
d)�
is more�
�
8.�
a)�
in�
b)�
between�
c)�
among�
d)�
of�
�
9.�
a)�
malignant�
b)�
severe�
c)�
benign�
d)�
malign�
�
10.�
a)�
discapacitating�
b)�
disabled �
c)�
incapacitated�
d)�
incapacitating�
�
11.�
a)�
at�
b)�
with�
c)�
in�
d)�
within�
�
12.�
a)�
at rest�
b)�
in rest�
c)�
when rest�
d)�
all answer are correct�
�
13.�
a)�
atelia�
b)�
ataxia�
c)�
atresia�
d)�
atypia�
�
14.�
a)�
conscientiousness�
b)�
unconsciousness�
c)�
consciousness�
d)�
conscious�
�
15.�
a)�
Diagnosis�
b)�
Diagnoses�
c)�
Diagnose�
d)�
A  diagnose�
�
16.�
a)�
being�
b)�
is�
c)�
be�
d)�
to be�
�
17.�
a)�
acquire�
b)�
alleviate�
c)�
access�
d)�
assess�
�
18.�
a)�
from�
b)�
to�
c)�
on�
d)�
in�
�
19.�
a)�
offset�
b)�
onset�
c)�
outcome�
d)�
outflow�
�
20.�
a)�
by�
b)�
with�
c)�
of�
d)�
to�
�
21.�
a)�
prior�
b)�
prior to�
c)�
in advance�
d)�
beforehand �
�
22.�
a)�
atopy�
b)�
asynechia�
c)�
athyria�
d)�
atrophy�
�
23.�
a)�
of �
b)�
by�
c)�
with�
d)�
-�
�
24.�
a)�
for�
b)�
on�
c)�
of�
d)�
to�
�
25.�
a)�
acerbated�
b)�
exacerbated�
c)�
exasperated�
d)�
exerted�
�
 








